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a)f(x)=x"+x’,

!/ !/ !/

f'(X)=(x2+x3) =(x2) +(x3) =2x+3x? =3x" +2x.
6)f(x)=x"+3x—1,

/

f'(x)=(x2+3x—1) :(xz)' +(3x) —1"=2x+3.
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J(x)= \/;(2)62 — x),
f'(x):(\/;) (2X2—X)+\/;(2x2—x) _
=(xij (2x2—x)+\/;((2x2)'_(x)')=;x_;(zxz_x)_l_\/;(z.zx_l):

3

> 1 301 _ 2
=X2—lx2+4x2—x2:Sx\/_—iﬁzlox‘/; 3\/;:10)6 3x
2 2 2Jx
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f(x)=x"Bx+x’)

[:f(x)=x"Cx+x)=3x"+x
F0)=0Cx"+x) =03x) +(x*) =3-(x’) +5-x7" =
=3.3.x 7" +5x" =9x° +5x* =5x" +9x°.

I:(uv) =u' v+uy',u=x",v=3x+x’

f(x)= (x2 )’ '(3X+x3)+ X -(3x+x3 )'

=2x""- (3x +x° )+ x*- (3 x T +3.x

[ —

=6x" +2x* +3x" +3x* =5x" +9x°.

=2x-3x+2x-x> +x*-3-x" +x°-3x7




f(x)=(2x-3)(1-x")

f(x)=2x-2x"-3+3x’
f(x)= (2x —2x* —=3+3x’ )’ = (2x)’ — (2x4 )’ -(3)' + (3x3)’ .

=2-8x’—0+9x° =—8x’ +9x* +2.
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Haiioume npouseoonvie hynkuuii:

X
D) f()=—
6)f(x) =
X — 1
0 f(x)=" 2

x> +4
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y = (gi:% )' _ (3x—2) (5x+8)—(3x—2)(5x+8)

(5x+8)
3.(5x+8)-(3x—2)-5 15x+24-15x+10
T (5x+8)  (5x+9)

34
(5x+8)
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3—-4x
Y =2
X
, (3—4x]r (3—4x)’-x2—(3—4x)-(x2)'
Y = 2 — 2 =
¥ ()

B —4x* —(3—4x)-2x B —4x° —6x+8x” B

4 4 o
X X

B 4x2—6x_ 4x—6
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